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��ก�����  A, B, C,X, Y �
' Z )*��+,�-.�/0 

 
 
(2)  �'��4 L �
' M 4�ก���70������8�
9ก����07���: 

 
���+�'ก�	��;�ก80��ก L ก7	 M )*��+,�-.�/0 
 1. ���=)�*�
�>�4��?�� L2M 
 2. ���=)�*�
�>�4��?�� LM 
 3. ���A����8ก4��?�� L2M 
 4. ���A����8ก4��?�� LM 
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�8�
9ก�����)
C;����;��?D�'07	 
7����E
7ก (Energy level)  ����ก*D�  
7:� (shell �D� n) 

  K     L    M    N     O     P    Q    6 ∞∞∞∞ 

 n = 1  1     2     3     4     5     6     7     6 ∞∞∞∞ 

   2n2   2     8   18    32   50   72    98    6 ∞∞∞∞ 
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��.���+,� 11 �N� 20 �'�+,���������>8
7�   
����E4?D B �'4��*�
�>��8�
9ก���� 2       �ก�*.� 14  ก7	 19 �'4��*�
�>��8�
9ก���� 1   
��D�.�ก���70������8�
9ก����/��'07	 
7�����
.*
��.��A4D�+,� 11 �N� 20  �'�+,�����E4?D   A   
�'4��*�
�>��8�
9ก����A4D�ก8� 8 
����M�NHOL�C��?กA��@H��P��?��?�F�Q��I�FJก�
����L�กA�RF@��L�กAD�F<��S<��NHOL 
����M�>�D�C��?กA��@H��P��?�
@CADEFA������L�กA� RF@��L�กAD�F<��S<��>�D 
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���70������8�
9ก����-�������D�A+��:�
'	�ก*D���?D/�E4?D�
')�	/0/���������� 
 

(1)     20Ca     =      2        8       10 
 
(2)     26Fe      =     2        8       16 
 
(3)     29Cu      =     2        8       19 
 
(4)     33As       =     2        8       18     5       
 
(5)     56Ba       =     2        8       18      28 
 
�8�
9ก�����)
C;����;��?D/��'07	 
7�����D�� (Energy sub level) ����ก*D� ����	8�7
 (Orbital)   
1 ����	8�7
 4��8�
9ก����A0.A4D�ก8� 2 �7* 
 


@CADEFA���� �P��?���
�DI�AF �P��?��I�FJก�
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ก���70������8�
9ก����/��'07	 
7�����D��  �-����7W
7กXY�07���: 
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��
������RDL���ก�\̂� 4 �<� 
 

��4ก���70������8�
9ก����/��'07	 
7�����D���8:���0��;����	8�7
/0 

 
 
NFAกก�
�AC�
����I�FJก�
��M�
@CADEFA�����L�� �_CNFAกCA���` 
(1)  NFAกก�
ก�CกA�<���E�F�  ก
D�**D�  \�8�
9ก����)?DE�N;�)?D/0  /�����	8�7
�0��*ก7��'�.��4��4	7�8A4D

�E4C��ก7�  ��D���.���8�
9ก����)?D�7:��.��4�
7กXY'ก��E4����	�7*�����ก�D��ก7�  =0��7*E�N;�E4����4
�-94��]8ก� �
'��ก�7*E�N;�E4���*��-94��]8ก�  � C;�/E.�'	�A0.*D��+,��8�
9ก�����7*/0^   �-���A0.07���:   

(2)  NFAก<�����aD�?  กFL�??L�  \ก��	�����8�
9ก�����.��	����/�����	8�7
��;4� 
7�����;_���0�
'*D����?D
กD����4�^ 07��?+ 
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(3)  กb<��c��C�  ก
D�**D�  \/�ก�Y���;4�E
������	8�7
�
'��D
'����	8�7
4� 
7������D�ก7�/E.	����
�8�
9ก����/�
7กXY'��;�_�/E.4��8�
9ก�����0�;�*4�ก��;��0��D���;�'4�กA0.  �4C;�4��8�
9ก�����E
C��N�	����
�8�
9ก�����+,�)?D��94����	8�7
�7:�^  �
D� 

 
 

 

 
 
(4)  �'��4-��������;4�ก��	�����8�
9ก������94/���กa ����	8�7
��;4� 
7������D�ก7�����ก*D�  ก�
D

����JH  

�.�4��8�
9ก������?D� ���)�N;��0��*����ก*D�  ก�
D

��>
_S�  ก��	������94E�C�ก��	����)�N;��'�_�/E.�'��4
4�)*�4������ก*D�ก��	�����		�C;�a  �7*��D��-������	8�7
��;	������94�
'	����)�N;���0�A0.07���: 
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ก��	�����8�
9ก����/�����	8�7
�D��a ��4
_�07	  �'07	 
7����=0����7������ 07���;ก
D�*4��
.* 
4�	��������;ก��	�����8�
9ก����/��'07	 
7�����D��A4D�+,�A+��4 
 

E
7กก���7:�  �7*��D���
D�  ���� Cr �
-�'��4 24  �-�������� ��0�ก��	�����8�
9ก����/�����
	8�7
�D��a A0.07���: 
  1s2  2s2  2p6  3s2  3p6  4s1 3d5  KHLMdL  4s2  3d4 
E�C�  Cu  4��
-�'��4 29 	�����8�
9ก����/�����	8�7
�D��a A0.07���: 
  1s2  2s2  2p6  3s2  3p6  4s1 3d10  KHLMdL  4s2  3d9 
 

ก����;	�����8�
9ก����-������ Cr �+,�  4s1  3d5  =0�4��8�
9ก����/� 3d ����	8�7
 5 �8�
9ก�����7:�
�+,�ก��	����)�N;�  >N;��_�/E.�'��4������ก*D�ก��	�����		  4s2  3d4    

�D*����� Cu >N;�	�����8�
9ก�����+,�  4s1  3d10  �'������ก*D���;�+,�  4s2  3d9  � ��'*D�   
3d  ����	8�7
4��_��*��8�
9ก������94��ก����	8�7
)C� 10 �8�
9ก����>N;��+,�ก��	������94 
 
�A?��L��ก�
�AC�
����I�FJก�
��M�
@CADEFA�����L�� 

 
 

������� 8A 
������ก 
  He Ne Ar Kr Xe Rn 


�������      2 10 18 36 54 86 
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(2)  33As     =     1s2    2s2 2p6   3s2 3p6 4s2 3d10      4p3 
       =     1s2    2s2 2p6    3s2 3p6 3d10      4s2 4p3 

         K     L              M             N 

      2        8  18           5 

 ∴∴∴∴  As   
���!��"���� 5A  �����# 4   

�������$����%��&   

 
As       =     [Ar]  3d10  4s2  4p3 
As3- =     [Ar]  3d10  4s2  4p6 
As3+ =     [Ar]  3d10  4s2 
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(3)  ก���70������8�
9ก����-.�/0�+,�=
E'����>8
7� 
  1. 1s2   2s2   2p6   3s2   3p6 
  2. 1s2   2s2   2p6   3s2   3p6   3d10   4s2   4p5 

  3. 1s2   2s2   2p6   3s2   3p2 

  4. 1s2   2s2   2p6   3s2   3p6   3d7   4s2 

 

(4)  ก_�E�0-.�4?
-��=
E' 4 
�80/E.07���: 
���� ��0E
�4�E
* 

(0C) 
��0�0C�0 

(0C) 
ก���_�Adde� 

(MS.m-1) 
ก���_�)*�4�.�� 

(J.s-1.m-1.K-1) 
)*�4E����D� 

(g/cm3) 
I 
II 
III 
IV 

180 
419 
39 

1670 

1330 
906 
688 

3260 

10.5 
16 
8.1 
1.8 

70 
112 
60 
2.3 

0.53 
7.14 
1.53 
4.50 

-.�/0�?ก�.����;��0 
-.� =
E'����>8
7� 4�0�70�D����;��0 /E.�8�
9ก�����D����;��0 
���:_� *D��A*4�ก��;��0 

1. 
2. 
3. 
4. 

I , IV 
I , III 
II , III 
II , IV 

II 
III 
IV 
I 

I 
IV 
III 
II 

I 
I 
I 
I 

II , III 
I , IV 
II , IV 
I , III 
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(5)  ก��
'
��-�� NaNO3 ��;��YE�?48 20 0C ��D�ก7	 88 ก�74 �D��:_� 100 ก�74 �
' 135 ก�74 �D��:_� 100 ก�74 
��; 70 0C �.������4���
'
���8;4�7*-�� NaNO3 /��:_� 40 ก�74 ��; 70 0C �
.*�_�/E.���
'
����9�
���; 20 
0C   (4*
�'��4-�� Na = 23 , N = 14 , O = 16) -.�/0�?ก�.����;��0 

-.� 4*
 NaNO3 

'
����; 70 0C 

4*
 NaNO3 
�ก�'ก����; 20 0C 

4*
-�� H2O ��;��84� C;�

'
�� NaNO3 ��; 20 0C 

1. 
2. 
3. 
4. 

47 
47 
54 
54 

18.8 
32.5 
32.5 
18.8 

21.4 
20.4 
20.4 
21.4 

 
(6)  �?.EW8��.��ก�� 
7���� 11000 kJ �D�*7� � C;�/
./�ก���_�ก8�ก��4�D��a �_�E�7	�?.
���.��ก�� 14000 kJ 

�D�*7�  �.��:_���
>?=)���_�+s8ก8�8��ก7	��ก>8���  �'/E. 
7������ก4� 5650 kJ �D�=4
 �?.EW8��
'
�?.
���'�.��/
.�:_���
>?=)��ก�;ก8=
ก�74  �N��'/E. 
7����� ��� �ก7	)*�4�.��ก��/���D
'*7�  (4*

�'��4-�� H = 1 , C = 12 , O = 16) 

-.� �?.EW8��.��ก��>?=)�� 
(ก8=
ก�74) 

�?.
���.��ก��>?=)�� 
(ก8=
ก�74) 

1. 
2. 
3. 
4. 

0.35 
0.67 
0.70 
1.34 

0.47 
0.85 
0.94 
1.70 

 
(7)  +s8ก8�8���'E*D��= �� �ก7	��ก>8����+,�07���: 

   C3H8(g) + 5O2(g) → 3CO2(g) + 4H2O(l) ;  

   ∆H = - 2208 kJ.mol-1   �.�+s8ก8�8����:/E. CO2   
   11 ก�74 �'4�ก���+
�;���+
� 
7������D��A�  
   (4*
�'��4-�� H = 1 , C = 12 , O = 16) 

1.  0?0 
7���� 552 ก8=
�?
 2.  )�� 
7���� 552 ก8=
�?
 
3.  0?0 
7���� 184 ก8=
�?
 4.  )�� 
7���� 184 ก8=
�?
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(8)  ก_�E�0+s8ก8�8��ก���7�0�+/E.07���: 

        C8H18 (g) + O2 (g)   →→→→   CO2 (g) + H2O (l)  

        ∆∆∆∆H  =  - 10108  kJ.mol-1   (�Hก�
�A�KHLC�F)   

   �.���ก>8�0
7���ก�����D���4	?�Y�E�7ก 45 ก8=
ก�74�'/E. 
7����ก�;ก8=
�?
  
(4*
�'��4-�� H = 1 , C = 12 , O = 16) 
1.  2.0 x 103 2.  4.0 x 103  
3.  2.0 x 106 4.  4.0 x 106 

 
(9)  �กw� CH4 , C2H6 , C2H2 �
' CO /
.�+,��
C:�� 
8� �4ก��ก�����AE4.�+,�07���:  

(4*
�'��4-�� H = 1 , C = 12 , O = 16) 

CH4(g) + 2O2 (g) →→→→ CO2(g) + 2H2O(l) ; ∆∆∆∆H = - 890 kJ.mol-1 

2C2H6(g) + 7O2(g) →→→→ 4CO2(g) + 6H2O(l) ; ∆∆∆∆H = - 3120 kJ.mol-1 

2C2H2(g) + 5O2(g) →→→→ 4CO2(g) + 2H2O(l) ; ∆∆∆∆H = - 2600 kJ.mol-1 

2CO(g) + O2(g) →→→→ CO2(g) ; ∆∆∆∆H = - 466 kJ.mol-1 

 
(ก)  �.��
C:�� 
8���D
'
�80 1.0 
8�� ���AE4.��;��YE�?48 20 0C )*�407� 1.0 	����ก��   

�
C:�� 
8�/0/E. 
7����4�ก��;��0 
(-)  �4C;��
C:�� 
8���D
'
�80E�7ก 1.0 ก�74 ���AE4.   �
C:�� 
8�/0/E. 
7�����.����;��0 

-.� (ก) (-) 
1. 
2. 
3. 
4. 

CH4 
C2H6 
C2H2 
CO 

C2H2 
CO 
CH4 
C2H6 
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(10)  ��84 1.00 M HCl �_��*� 100 cm3 
�/�
8:� CaCO3 E�7ก 2 ก�74 -.�/0A4D�_�/E.�7���ก���ก80+s8ก8�8����:
� 8;4-N:� 

 1.  ��84 1 M HCl �_��*� 150 cm3 ��� 1 M HCl �_��*� 100 cm3 
 2.  ��84 2 M HCl �_��*� 100 cm3 ��� 1 M HCl �_��*� 100 cm3 
 3.  /E.)*�4�.�� 1 M HCl �_��*� 100 cm3 กD����84
�/�
8:� CaCO3 
 4.  ��84 1 M HCl �_��*� 100 cm3 
�/��� CaCO3 ���
8:�  CaCO3

 

 

(11)   ��>�=�� (CH3COCH3) �
'A�=�0�� (I2) �_�+s8ก8�8��ก7� =0�4�ก�0>7
dx*�8ก�+,�)'�'
8���  +s8ก8�8���+,�
07���: 

      CH3COCH3(l) + I2(aq) →→→→ CH3COCH2I(aq) + HI(aq) 

      �
ก���0
���+,�07������ 
ก��

�0
����; 
[CH3COH3] 
(mol.dm-3) 

[I2] 
(mol.dm-3) 

[H+] 
(mol.dm-3) 

�*
���;/
. (s) 

1 
2 
3 
4 

0.100 
0.100 
0.200 
0.100 

0.100 
0.100 
0.100 
0.200 

0.010 
0.020 
0.010 
0.010 

60 
30 
30 
60 

 

     -.�/0�?ก�.�� 
     1.  �7���ก���ก80+s8ก8�8����:-N:���?Dก7	)*�4�-.4-.�-����>�=����D��7:� 
     2.  )*�4�-.4-.�-��ก�0>7
dx*�8กA4D4��
�D��7���ก���ก80+s8ก8�8����: 
     3.  �7���ก���ก80+s8ก8�8����:-N:���?Dก7	)*�4�-.4-.�-����>�=�� , A�=�0�� �
'ก�0 
     4.  �7���ก���ก80+s8ก8�8����:-N:���?Dก7	)*�4�-.4-.�-����>�=���
'ก�0��D��7:� 
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(12)  +s8ก8�8��  A + B  →  C  4� 2 -7:����07���: 

    A  +  B  →  X   ;   ∆H  �+,�	*ก 

             X      →  C   ;   ∆H  �+,�
	 

      ก��d/0���ก���+
�;���+
� 
7����-��+s8ก8�8����:A0.�?ก�.�� 

 

 
(13)  ก_�E�0�4ก����;��*'�40�
/E.07���: 

 Fe3+(aq)  +  SCN-(aq)  Fe(SCN)2+(aq) 

(ก)   ก��d/0��0�ก���+
�;���+
� [Fe3+] กD���
'E
7���84 Fe(NO3)3 
(-)  �.��7���ก���ก80+s8ก8�8��A+-.��E�.����0.*���.��
'�7���ก���ก80+s8ก8�8���.��ก
7	���0.*�

��.�ก��d/0��0��7����7:����กD���
'E
7���84 Fe(NO3)3 
())  �.��_����
'
��/E.��C����
�=0�ก����84�:_�  ���0��'���
�  � ��'�E��/0  
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(14)   /��)
��848����� (calorimeter) 4� calibration factor = CF �กw�	8*��� n =4
 �?ก���AE4. *70��YE�?48

� 8;4-N:���D�ก7	 ∆T2  07��4ก�� 
              2C4H10(g) + 13O2(g) →→→→ 8CO2(g) + 10H2O(l) 

      )D� ∆H /�E�D*��?
�D�=4
-��+s8ก8�8����:  -.�/0�?ก�.�� 

   1. 2 x CF x ∆T2 x n 

   2. 
n

TxCFx 22 ∆  

   3. 
n

TCFx

2
2∆  

   4. 
n

TCFx 2∆  

n

TxCFx 22 ∆
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(15)   +s8ก8�8��-���>

�/��	������;������/E. 
7������ก4��4ก���+,�07���: 

Pb(s) + PbO2(s) + 4H+(aq) + 2SO4
2-(aq) →→→→ 2PbSO4(s) + 2H2O(l) 

      �4C;��_��	������;��:A+�70Ad  +s8ก8�8��/0�ก80-N:���;-7:*
	 

1.   Pb(s) + SO4
2-(aq) → PbSO4(s) + 2e- 

2.  PbO2(s) + 4H+(aq) + SO4
2-(aq) + 2e- → PbSO4(s) + 2H2O(l) 

3.  PbSO4(s) + 2e- → Pb(s) + SO4
2-(aq) 

4.  PbSO4(s) + 2H2O(l) → PbO2(s) + 4H+(aq) + SO4
2-(aq) + 2e-  

 
(16)   ก���
8���4=4����/������Eก��4 =0�A�=������_�+s8ก8�8��ก7	A�=0����  �4ก���+,�07���: 

         N2(g) + 3H2(g)     2NH3(g) ; ∆∆∆∆H = - 92 kJ.mol-1 

      ก��d/0��0��.��
'-����4=4����ก7	��YE�?48�
')*�407�A0.�?ก�.�� 

 

 
(17)  ������ก80+s8ก8�8�� �
8�4�A��>
7�A0. �
8����� �.�=4�
ก�
-�� �
8�����+�'ก�	0.*��'��4-��)���	��

+�'4�Y 7,000 �'��4  4*
=4�
ก�
-�� �
8�4�����:/ก
.�)���-.�/04�ก��;��0  
(4*
�'��4-�� H = 1 , C = 12) 
1.   70,000 2.   80,000 
3.   90,000 4.   100,000 
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(18)  +s8ก8�8�� �
8�4�A��>
7��		��84-�� CH3CH=CHCH3  =)����.�� �
8�4�����;A0.)*��+,�-.�/0 

 

 
(19)  =
E' R , S �
' T  4��4	7�807���: 

(ก)  =
E' R A4D�_�+s8ก8�8��ก7	 1M H2SO4 
(-)  =
E' S �_�+s8ก8�8��ก7	 1M H2SO4 /E.�กw� H2 �
'�_�+s8ก8�8��ก7	���
'
�� 1M RCl2 /E. R 
())  =
E' T �_�+s8ก8�8��ก7	 1M H2SO4 /E.�กw� H2 ��DA4D�_�+s8ก8�8��ก7	���
'
�� 1M SCl2 
��ก-.�4?
-.�/0�����)*�4*D��A*-��=
E'�
' H2 ��ก�?���;��0A+�;_���;��0A0.�?ก�.�� 
1.  R  >  H2  >  T  >  S 2.  H2 >  R   >  T  >  S 
3.  S   >  H2  >  T  >  R 4.  S   >  T    >  H2 > R 

 
(20)  4�����?ก/
./��>

��
C:�� 
8�� C;�/E. 
7����Adde��4ก����0�+s8ก8�8����;�ก80-N:��+,�07���: 

CH4(g) + 2O2(g)  →→→→  CO2(g) + 2H2O(l) 

=0�/
.ก�0�+,��8�
9ก=��A
��  +s8ก8�8����;�8�
9ก=��0-���>

��
C:�� 
8���:�+,���4-.�/0 
-.� +s8ก8�8����;��=�0 +s8ก8�8����;�)=�0 

1. 
2. 
3. 
4. 

CH4 + 2H2O → CO2 + 8H+ + 8e- 

O2 + 4H+ + 4e- → 2H2O 

CH4 + 8OH- → CO2 + 6H2O + 8e- 

O2 + 2H2O + 4e- → 4OH- 

O2 + 4H+ + 4e- → 2H2O 

CH4 + 2H2O → CO2 + 8H+ + 8e- 

O2 + 2H2O + 4e- → 4OH- 

CH4 + 8OH- → CO2 + 6H2O + 8e- 
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(21)  �8�
9ก=��
8>8����
'
���8� (II) )
�A�0� =0��D�*���07���  

 
(ก)  +s8ก8�8��/0�ก80��;-7:*	*ก4�ก��;��0 
(-)  +s8ก8�8��/0�ก80��;�)=�04�ก��;��0 

-.� (ก) (-) 
1 
2 
3 
4 

2Cl-(aq) → Cl2(g) + 2e- 

Sn2+(aq) + 2e- → Sn(s) 

Sn(s) → Sn2+(aq) + 2e-  

2H2O(l) → O2(g) + 4H+(aq) + 4e- 

Sn2+(aq) + 2e- → Sn(s) 

2Cl-(aq) → Cl2(g) + 2e- 

Sn2+(aq) + 2e- → Sn(s) 

2H2O(l) + 2e- → H2(g) + 2OH-(aq) 
 
(22)  ก_�E�0�� �>

��ก
�*�8ก/E.07���: 

 
�.��_�)�N;��>

� Fe3+|Fe2+ �D�ก7	)�N;��>

� Cd2+|Cd  �'A0.)*�4�D���7ก��-���>

�ก�;=*
�� 
1.  + 0.07  =*
�� 2.  -  0.07  =*
�� 
3.  + 1.17  =*
�� 4.  - 1.17  =*
�� 
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(23)  �	����-*0E�N;�4�-���E
*E�7ก 375 ก�74 4�������
��?D�.��
' 4.90 =0�4*
 +s8ก8�8��ก�����AE4.-�� 
������
�+,�07���: 

C2H5OH(aq) + 3O2(g)  →→→→  2CO2(g) + 3H2O(l) ; ∆∆∆∆H = - 1368 kJ.mol-1 

�.��	����-*0��:��
ก���
��?ก�7�0�+E40 �'+
D�� 
7������ก4�ก�;ก8=
�?
  
(4*
�'��4-�� H = 1 , C = 12 , O = 16) 
1.  273  ก8=
�?
 2.  546  ก8=
�?
 
3.  684  ก8=
�?
  4. 1368  ก8=
�?
 

 

(24)  ����0��_�+s8ก8�8��ก7	ก�0A���8ก��C���� +s8ก8�8���7�A4D0�
�+,�07���: 

Cu(s) + HNO3(aq)  →→→→  Cu(NO3)2(aq) + NO(g) + H2O(g) 

ก�0A���8ก+�84�Y4�ก�ก8� ���84
�/�����0�E�7ก 3.50 ก�74 �'A0.�กw��7:�E40ก�;
8�� ��;��YE�?48  
110 0C  )*�407� 101.3 kPa  
(4*
�'��4-�� Cu = 63.5 , O = 16 , N = 14 , H = 1 , R = 8.31 kPa.dm3.K-1.mol-1) 
1.  3.46  
8�� 2.  6.91  
8�� 
3.  10.40  
8�� 4.  7.39  
8�� 
 

(25)  ��กก���0
����84���
'
��ก�0A�=0�)
��8ก
�/����
'
��=>�0��4A�0��กA>0���
'+�84�Y
�
9ก�.���
.**70 pH -�����
'
��E
7���84A+��C;��a ก��d��;)*�A0.�7	�+,���4-.�/0 
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(26)  ���
'
��4������= ����>��4�+����4�ก���� (KMnO4) 4�)*�4�-.4-.�  0.0240  =4
�D�
8��  
A�����ก7	���
'
��A������ (II) >7
�d�  �4ก���7�A4D0�
�+,�07���: 

Fe2+(aq) + MnO4
-(aq) + H+(aq)  →  Fe3+(aq) + Mn2+(aq) + H2O(l) 

���
'
�� KMnO4 15.60 cm3 �_�+s8ก8�8�� �0�ก7	���
'
�� FeSO4 �-.4-.� x =4
�D�
8�� �_��*�  
20 cm3 )D� x �+,���D�/0 
1.  0.0187  =4
�D�
8�� 
2.  0.0307  =4
�D�
8�� 
3.  0.0936  =4
�D�
8�� 
4.  0.1540  =4
�D�
8�� 
 

(27)  �+e�+�'ก�	0.*� amylose �+,�E
7ก >N;��+,� �
8�4�����;�ก80��กก
?=)� (C6H12O6) 4*
=4
���-�� 
amylase ��D�ก7	 3.62 x 105 g.mol-1 -.�/0��8	��=4�
ก�
-�� amylose ��:A0.�?ก�.��  
(4*
�'��4-�� H = 1 , C = 12 , O = 16) 
1.  �+,� �
8�4����		��84-��=4�
ก�
ก
?=)��_��*� 2235 =4�
ก�
 
2.  �+,� �
8�4����		��84-��=4�
ก�
ก
?=)��_��*� 2011 =4�
ก�
 
3.  �+,� �
8�4���)*	��D�-��=4�
ก�
ก
?=)��_��*� 2235 =4�
ก�
 
4.  �+,� �
8�4���)*	��D�-��=4�
ก�
ก
?=)��_��*� 2011 =4�
ก�
 
 

(28)  ก_�E�0����� /E.07���: 

 
��ก����� ��;ก_�E�0/E.��� X , K �
' L )*��+,�-.�/0 
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-.� ��� X ��� K ��� L 

1. 
2. 
3. 
4. 

ก�0�กD 
ก�0�กD 
�	��กD 
�	��กD 

ก�0�8������ 
��
ก���
� 
ก�0�8������ 
��
ก���
� 

��
ก���
� 
ก�0�8������ 
��
ก���
� 
��
ก���
� 

 

(29)  ��กก���0
��*8�)��'E����+�'ก�	�8��������;�+,�-���E
*
�80E�N;�A0.�
ก���0
��07���: 
ก���0��	 ก�'	*�ก�� �
ก���0��	 
1 ��84 Br2 (aq) ���:_���
 


�/����+�'ก�	�8������ 
�ก80+s8ก8�8��A0.�
8��7Y�� 
��;+�����ก�� 

2 ��84 Na2CO3 (s) 
�/�
���+�'ก�	�8������ 

�ก80+s8ก8�8���
'A0.�กw� 
��;+�����ก�� 

���+�'ก�	�8��������;�_�4�*8�)��'E�)*��+,����/04�ก��;��0 

 
 

(30)  �7ก�)4��_��:_��8:��7*��D��4�E
�0
' 10 cm3  �_��*� 2 E
�0  �
.*�_�/E.��C����0.*��:_���4�+�84��� 
300 cm3  E
�0E�N;��_�4�*8�)��'E�E�+�84�Y��ก>8����7��� ��;��YE�?48 20 0C ��D��กE
�0E�N;��_�A+
�	�+,��'�'�*
� 5 *7�  กD����;�'�_�4�*8�)��'E�E�+�84�Y��ก>8���  �
ก���0
���+,�07���: 

 
>L�     <���̀P��I`���`M�N�L?� ppm �\̂���L�MC 
1.  2070 2.  270 
3.  207 4.  300  
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(31)  ก_�E�0���/E.07���: 

 
-.�/0�����)*�4���-��-7:*A0.�?ก�.�� 
1.  (b)  =  (d)  <  (c)  <  (a) 2.  (a)  <  (b)  <  (c)  <  (d) 
3.  (b)  <  (d)  <  (a)  <  (c) 4.  (c)  <  (b)  <  (d)  <  (a) 
 

(32)  -.�/04��?+�D��=4�
ก�
�+,� Square planar, Square , pyramidal, Linear �
' T-shaped ��4
_�07	 
1.  SF4     ,   NH3   ,   CO2     ,   COCl2 
2.  NH4+   ,   PCl3   ,   HgCl2  ,   BF3 
3.  SO42-   ,   AsH3  ,   HCN   ,   H3O+ 
4.  XeF4   ,   BrF5  ,    I3-       ,   ClF3 

 

�����S 2 : �Aก�s�E  �>H��P��?� 3 <=� <=�F@ 3 >@R�� 
?H 9 >@R�� 

(1)  ก_�E�0+s8ก8�8��/E.07���: 

 
  

        ��E�  
dt

Rd ][   4�)D���D�/0 

1.  k1[P][Q] � k2[R] 2. k1[P][Q] � k3[R][S] 
3. - k2[R] � k3[R][S] 4. k1[P][Q] � k2[R] � k3[R][S] 
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(2)  ก_�E�0 E0 �
' ��-�����/E.07���: 

 
���
'
���'4����'A� �4C;���84=
E'0�	�ก
�/����
'
�� VO2+ 
1.  ���E
C�� 2.  ���:_���8� 
3. ���-��* 4.  ��4D*� 

 
(3)  �.��.��ก�������4���
'
��	7d�d��� pH = 5 �'�.����84=>�0��4��>���0ก�;ก�74
�/����
'
��ก�0 

��>��8ก�-.4-.� 0.200 =4
�D�
8�� �_��*� 250 cm3 )D�)���;�40�
-��ก�0��>��8ก��D�ก7	 1.74 x 10-5   
(4*
�'��4-�� H = 1, C = 12, O = 16, Na = 23) 

1.  0.348  ก�74 2.  3.480  ก�74 
3.  7.134  ก�74 4.  17.34  ก�74 

 


